
11/25/2023 Page 1 of 3

       5/16"X20mm bolt

 Pre-assembled in headboard

1 Pc

8 PcsTwin slats

Twin panel footboard  and footboard

1 Pc

Allen wrench (included)

2 5 Pcs
Twin panel headboard Allen wrench

4

1 2 Pcs

3 1 Pc

10 Pcs

Phillips screwdriver (not included)

1 1/4" Screws
XL Side rails

PARTS LIST QTY PARTS LIST QTY HARDWARE LIST QTY TOOLS NEEDED

35511256 12G-774 XL 2 PC SIDE RAILS

37011284 100-172 5 PC TWIN SLAT PACK

34611257 12G-115 TWIN PANEL HEADBOARD

34711259 12G-116 TWIN PANEL FOOTBOARD

3411125P   TWIN XL POSTER BED   LIGHT GRAY

RTG SKU # STYLE #   ITEM DESCRIPTION

35511244 12E-774 XL 2 PC SIDE RAILS

37011284 100-172 5 PC TWIN SLAT PACK

34611245 12E-115 TWIN PANEL HEADBOARD

34711247 12E-116 TWIN PANEL FOOTBOARD

3411124P   TWIN XL POSTER BED   SLATE BLUE

RTG SKU # STYLE #   ITEM DESCRIPTION

35511232 12D-774 XL 2 PC SIDE RAILS

37011284 100-172 5 PC TWIN SLAT PACK

34611233 12D-115 TWIN PANEL HEADBOARD

34711235 12D-116 TWIN PANEL FOOTBOARD

3411123P   TWIN XL PANEL BED    IRON ORE

RTG SKU # STYLE #   ITEM DESCRIPTION

35511270 12A-774 XL 2 PC SIDE RAILS

37011284 100-172 5 PC TWIN SLAT PACK

34611271 12A-115 TWIN PANEL HEADBOARD

34711273 12A-116 TWIN PANEL FOOTBOARD

3411127P   TWIN XL PANEL BED   PINK

RTG SKU # STYLE #   ITEM DESCRIPTION

34711261 12W-116 TWIN PANEL FOOTBOARD

35511268 12W-774 XL 2 PC SIDE RAILS

P A R T S  L I S T

3411126P   TWIN XL PANEL BED   WHITE   

RTG SKU # STYLE #   ITEM DESCRIPTION

34611269 12W-115 TWIN PANEL HEADBOARD

37011284 100-172 5 PC TWIN SLAT PACK

A

B

C



HIGH SETTING STEPS 1-4 LOW SETTING STEPS 6-9

Assemble side rails 

tighten all bolts Install slats, one on each space between the small blocks,
MAKE SURE ALL BOLTS ARE TIGHTENED COMPLETELY then fasten with 1 1/4" screws.

11/25/2023 Page 2 of 3

THERE ARE TWO POSSIBLE SETTINGS, HIGH (FACTORY SETTINGS) AND LOW

Loosen bolts in headboard & footboard posts (1/4" approx.) 
Do not remove, BOLTS ARE PRE-ASSEMBLED.

ASSEMBLY INSTRUCTIONS

STEP  3 STEP  4

STEP 1 B

STEP 2

B

B

C

C

A

A

A



 

 

Assemble side rails 

thighten all bolts Install slats, one on each space between the small blocks,
MAKE SURE ALL BOLTS ARE TIGHTENED COMPLETELY then fasten with 1 1/4" screws.

11/25/2023 Page 3 of 3

ASSEMBLY INSTRUCTIONS

Remove bolts from top setting then install in the lower setting, do not 
tighten, allow 1/4" space between post and bolt head, repeat for all  posts.

STEP 5  

STEP 6  

B

BSTEP 7  STEP 8  

C

C

C

B


